[T SETE— L]

- &&=
b G e e et isrkinger B bager ve 8 ATTENZ IOHE
IMALATG! FIRMA GARANTI BELGESI L s ot . s A e L PRODOTTO DEVE ESSERE MONTATG CORRETTAMENTE. -
fopefornh g i M L FABRICANTE HON SARA RESPONAABILE PER PRODOTTI MOMTAT! I MODO NOM CORRETTO.
A Ve puwd ENSE SNERIE BOLEETAN GFUTRRIN
TRTHATE DACET BEP QAT AL TE Sl bW AT BleE 1 v “'. i Aensiin Surally Par ol b ool " L -
e E—— PA—— il | -“‘:“' P‘_‘m e e
T T R e
TELEFONEE I s F 14 11 P, B i el el Lo L] + Parsle Sowrman Sarwe i wdelln e’ pat Demnyn m arel Fulbe  omnvin wwsdn, Palbind Ses o reabd pass e vl Wes pniars
Fimsan TETHiNN L i oo el il Exbgles bir gk Fasbe s uﬂhmmumlmh-ﬂﬂunmlmmummiunm.
TTA T LAGES ;w s - Codiiasmil pranba cega | Ferpge ula 3 ks § S provate b ke oni P e £lls reeds b
Ieapies i amarbingga.
- i L_,'m'-..;-:_““m““:.'_.‘““:f% - e g oo el cha b schrran TV i b pasizionto md svailals, pur sl coud g ivenkisl possibin
cisi uciira T— gl 3 s eyl e P o 188 g
g SONIADIE L e mHm.qupmnnm-m [ ——— - il g .5 “:"
W t TR B BRRER GMEAE EERE Waw DAl
Al Byt B s b e A R TR Bk Wk lnndbairs T, pot o mug
mu:mdﬁlﬁl S ik e A A SR Gl B
ol "_: wrﬂﬁu;ﬂm AT
O GerAN MRS SIS OTRSTAN RAndy mrmmm R r— | ool " T T T e—— - detd, i Sl & r—
AR PN B e aa mauﬂn:uﬂlmtﬂnmﬂuu—ummummum“u
I A B P P A T —
-r."f“u._q-u“: = :ﬂ:.-m-pph:ix. b, Ao xrduhmpﬂu—nm-ﬁﬂ%_*wd—ﬁ*m
RMATAERIE LN REANSS  WONS DRI RAREMT b, e Y
FATIRA, TARI MG =iy - e puimne decade s
Tl miPa el agh i padaln MO & s e e e sl rae e
UYARI B prelaie s et mmras s ikl o pEsk
walgTes o 0 guann b nleld povneas 08 Cndm es Pl BEEEE feE e PR IRl § e R O DATIRIIONE, B TR Lt RR
T. Wbl BOHCRCAR el sarsin seranan dereis dries e G L
e e gt bl g b - i pradofic b sini i plagaie pus fi v drvstms dn gl il kb e
T olgharips Mhan sclbacmini
TR e e T ADTT Ak T A A SanaTes Ca B in e s sl s put neanl s iy
[T T T ST O D T TN vy S T
SOMOROUS e s Tt ) e ! SOOOETTO A POSSERI ERACRI B STAMPA E SO RISER Di MODFICHE TECHICHE
L L g - Vaidm Wabd k04 i RT,
ATTEMTION! UM MOWTAQE CORRECT EST ESSERTIEL. DANS LE CAS DUN MOMTAGE HON SONFORME Ara:lo ! Uina qais b Ll pes il s pricdinlos rella 1o 4 pesgen sabibdade
AVEC LES INSTRUCTIONS FOURNES LA RESPONSABILITE DU FABRICANT NE PEUT ETRE ENGAGEE do labricants
W it vl b e ke d S s Jusels e savand e L sl e Wik il gk g e S o R0 Savances Sl R wga Be rabigi ik b ol e s R R
millmhtlﬂ“mhiﬁuhmmdhmﬂﬂnhbiw Dmnﬁihﬂh&hmﬂml‘uﬂpﬁhﬂﬁlﬂﬁﬂﬂ.umbm
MONTADE o Bupaifici da el v - o B Sualn 0w i b e b % b G Lede Sk cE i preia ¢
T L e 1'% v i et o Ve vm
- Sadawdare - Saveoue S ! g S e 3 i - Wnileapie du rale nke e zants - e e reanleds Swtegaec car 2 Jo e e Al S
. dal ™ i i, M o il damm ‘sein® i I ™ deties - i £ v et b ada n e
#N:,pfﬂ:m-t#w—ﬁuim e : ot din tips Pagan tn = '-bﬂu'h it o Sepeaitive curigoeun tu g o dipeasing piead o rille pumin cai
- Camun fa s ~Bria mastags e e st 2 fepals e b s
demanags
- n i Easkag ok il buah s i ol s 0l o B COHDGOES D QU RANTIA
= ) ik r|-Il|l|nl-||h|lﬁimmm"-_ﬁmmmulm“nmmnm
-+ 1 Pl e i e b pek da i ot o Eonasus Barels dove am s ks o # 00 0 e wschntv b i repocer s
=k b e s o and e Soulors, heeae ol vl winilie ¢ prede fovme da oe Sois da goan do cevpon 5 0w pati o Sevsrous Sueln da s 1 ki o
- Al d I o s iy dn ki -r:-uuvu_wuim-manumnmanammm
- Rlass oo ceraden am b v ol i chorks den oo ete i apaate o il e, Y T e T bl bl da s 1 dak el nvampn
s ik irviruictivta n b elion da ik -.igr::_i:ldl_.h_m-i G T
s Lol T
TR ;. Sustiaare e G mg‘um LOAD ASSEMBLY INSTRUCTIONS
Len prockils Sorarmi bisblnant dure gutis b e e meablisis ol o fabwic o 4 s | ol e des
b s et b e i S 30 54 b i 1 it e Soutui snp o . nmi“uurmu-uuwumnmnhm MONTAGE ANLEITUNG
Amraeue fanke "
Dura s e o b da b b preat s b rbue i ks £ i pnin et e, kel e Pt fawr CONBRNA FSi MU PaFS UIS TUlLm cleervingin
e - bl b g MONTAJ TALIMATI
e e asntl s il bt A bl INSTRUCTIONS DE MONTAGE
- Lnpredaa i madih ol gk
- Luesam da Sewasda b walidelen oo la garenis e cavioms o e mrenas o b bberalen do predan U pavededs pal ISTRUZIDNI DI HGNTAGGIG
Pabmran sramid tan v o doom e dators 1 »
© b chmtramben ot gtlwaton s ookl ettt mibs g pele flnis pr be Bebumand |N5TRUCDES DE hSSEH BLE]&
i i MHCTPYKLIWA NO CEDF‘HE
SUJET ALK ERRELURS O'IMPRESSON ET ALK EVOLUTIONS TECHMOUES LJrLE..

T
v | g o AR OO0 WG H A [ g 00 HE LNV 970 D s e BEC I B ACHTUMD! DIE MICHTIOE MONTAGE DES PRODUNTE 15T VORAUSSETIUND DAFOR. DASS DER
TIPORBBSANTIING 40 HECET OF BETITBENHOCTH 15 NGNS HLLGMRSA B CRITY WO DS AT s HERETELLER IROEMDEME HAFTUND DBERMIMNT,
4 ¥ i e ) A ), e A e s e wﬁm:ﬁ:.‘i:&;ﬁ: WERHIEG CORRBCT ASSEMELY IS ESSENTIAL D B rwa K iirma Bormsias Suae Peiubs: U Huuq.l-dnhnnhhnn bulolges Su hltlthuhuqu i
E Bl 3 0, Epars RasA came Sore i Sasale Mrebu Bman nacyi crymat a2, npcoe 1S Coomsin 3 MISASSENEL ET) PRODUCTS FAL L OUTAINE THE RESPONSBILITY OF THE MANLUFSCTURER. Erdlurg D Hanats g es Sorcecan S alo-T b wrlolgla rithh Fatach 8 ot Tudhre ko, wobss sl Bawts goge i1
- N ks F Sk - i, 1 S £y ke Bl D s g e i Ratwnas g Dol Bl ek dbe e wege
TP S i Gl ke el b e S e ey A s B3 LA, s o, G gk Lt Mmhwpﬂi—dh—-hﬁm Feiowrrg P 1abuabors in 1 Furmal il s s ke s rumien facn s MONTAGE
a s Lol Yo Srravm whh g 17 gadl b P vl umary pracenn g
Hufop RO@EEIHETH QNN REWTaws . i ek ARBEMELY . g Pl h:lll"' i n T (TN P e Wb
- --.:u I.:.:_m e ks praan kg o S 1 o o i 8ty 0, T ] e i i e e i ey .-qj..'-nl‘-wl-u‘-':;.:: mﬂﬂhhm‘m 4 3 e ——
I hai - Huraen Lunk g s gl A e w5 et e i e ) e i e i, b ¢ e A L e AL, e s e + Ieewebon makee = Sevarous Sl b sl ae 0e dor sllnhing e el Pk of. ool con sl i e, ey sl iic wd |
- e - = . : o MR ke Dt s o it sl e o e 4 - Uerpeiorg dee Wandryaniage - Nuch der Weviage fnr Hafisrag/Dnsplaie bebirien S s b et durs in don Mergea e g
PO G HEREEEOCTE HHCTANNAGEE e L e e o 1P, e CRRTT L — il U & it T e bl b b vl - Bt v opein® sl b e anind i it P gt brmbrctud i ke ssimndady iriinistions. Carerchl
pra . il = b R e W e e ) e L e e i S L a-n-::::‘v:.u n.-:fL,:::-w__J-q';f::“:. b Mmhm“m Na e It st g s b o phiced el B ol o1 960 = it Gt ol ~ Vaigeininiis S wchy, dininn chis Coas o bl . il oo ok, i s i i vy i
o B By nbee alalion dhach that 1. Ths wat plule o el s hed e wal 3 Tin ba's, s wod bt e ol e smmachun bara
;. I - % I pHGar - eaanad. 3. Thes sk ol i 5 Do . R s chuct vy i vlhe i, Hpna nd 3 smad s dmvecd mﬁ:m:mﬂh&*uhmuhnmﬂmam
AT TR, 1 TR e € PR s drras s LCD Py iy o & e imtalalur, '*'_'ﬂ““ﬂ oaned micasding wsd e "*"' v, L 9
[ — oo :w'i:'ﬂ}:“'ﬂ_ - Lo ;"‘." - - . o g Licrata Falbs i m P alig b, Kenvwtdann o e Weviage o svmm anlesen Sie des G and o Sie dares s iges.
?dﬂnplﬂ— . s s | Lot 1, S, e Wi A RANTEE CONDITIONE ol sempiysiin s Mooty b
{ H ; L TN TR A (T TN CTE 2 BT W r e i B i e T i o s s 1 g oy W L P L, s i s o i, e i
Barvini Sk 1 LCTI T8 P30 R i T TR e i, Bt b G S e s e, i 1“&““”“"“1&-1“-““-““ dnia |2 Susate il ul i DATANTIEBECINOUNGE
Mmmnnmmnmﬁum ik A i g s i b 8 M e i R i iy A i s ok g e b s e b il prealef plachoss and aeidan wolics of
" sl Tes mew 1 nsa E by Sormrean Suil
b el i il gudtden, D okt s b kv 1 B rknd Gt i i B il i Bl rock, + Savrtun Sl bvalel s arminsge Gacands gugan Defeits curch e d- oow: atibabinga b (v e doa bgen Fal vt
FEPAHTHAHSE YENOEHA o recsicts. T T s sy s o B e e st Sanere s Sty welet e q. wod wra usbuiticn vapuig! -
i agenis Senaices Apal , ¢ y B R b= il n;:,h_,- ...,.._...‘;..L sy loa Proall ik 5
Ll Ba iy 4 18 RS TR 31FUBSHTRR L IRLETY] AT R c Pkt el proda s Iackuions » Bo Carnstmmrapniahon o eos Iedsd mll dor Cugoa des Kaubsdlagn |7 dir g an Ve irng e e
mmmmmm L] I8 T:m::‘:-*:m el A L s B T e ST e P P ———
fira A T T 44 7 B s e, S S -+ Tovm b v vl sl o | . s o . Pl o s oo, o el ear, W g, deberts * B b #1cM 12 bkpordn 3
ml"lﬂﬂm - - A Fp ey [ U f—— N ::Mlﬂﬂ s I i
Tig i o B EFRE R CFR T i g . el Ly X = Frab ot D el i i o gl wic®vn Bl il vk wchilldnn e geiociaris Schiwiber 8tdbar, 99 sl ol
Buibs el & & P — fiarsa mmwmﬁmu
ey ; Y m—— e -~ Pl i Prodii fis vrd Furiarns serwurdal wurda o sl sore e cdlaller e giobier ard
ity £ ¥ F . r v ey BLIBJECT TD PRINTING ERPOR S AND TECHN ICAL AMERDMENT &
[ B AR, H aa B down S g il i sirrval braxhan
Masairy i b By " o 1 CIRUCHFEHLER UMD TECHNISCHE AHOERUROEN VORBENALTEN

REV NO: 06 / 11.07.2011




/

M o
& &
o
Q f e
4 0o 0 ‘l"—':@ ‘I:::@ D OO (D) ) cm——
5 D) |||©
O
— —J
— ] o LH
B & |
D B
o) o o
O
D |~
o o = == D of(g) (0)em——g cm—
Insert the wall anchors* to the wall and tap them
Level the mount and mark. Drill the mounting holes. flush with a hammer. Fix the plate to the wall.
* Never use wall anchors on drywail
| SR
il
@

Secure the safety lock.
A small padlock can be used if needed.

)

7
()] xa

ME x4 M5 X
1' N0 O :IIEIIIJII!IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

ROTATE TIT SWIVEL
q
- @

=/ Tightly secure the mounting screws. [ Attach the screen to the mount. @ = [
HARDWARE KIT

c’ ®) LA P g e

h:-} M8 ) x4 me () x4 M5 W x4 M4 ‘%\, x4
* A = = | = o
=
T S =) M8 x4 M6 x4 M5 x4 M4 x4 b=+ SDNORDUS
& Mﬁhmﬁ%ﬁ x4 W {W @ SOUND AND VISION IN STYLE
Ma x4 4 M4 x4 M4 X1
REV NO: 06/ 11.07.2011




